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Computer Proficiency Certification Test

Notations :
1.Options shown in green color and with % icon are correct.

2.0ptions shown in red color and with * icon are incorrect.
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Subject Name : Computer Proficiency Certification Test
Creation Date : 2023-02-26 13:19:48
Duration : 120

Total Marks : 75

Display Marks: Yes

Share Answer Key With Delivery Engine : Yes

Actual Answer Key : Yes

Calculator : None

Magnifying Glass Required? : No

Ruler Required? : No

Eraser Required? : No

Scratch Pad Required? : No

Rough Sketch/Notepad Required? : No

Protractor Required? : No
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Change Font Color : No
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Help Button : No
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Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 52
Number of Questions to be attempted : 52

Section Marks : 52
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897027
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 1 Question Id : 2549896376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2016 % ¢lged IR § Fafifad & § B9 91 5o W A el gidr 82
Options :

1. % e

2. % |IC

3. % g

4. % FdAIS

Question Number : 1 Question Id : 2549896376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following buttons is NOT present on the 'Title bar' of MS-Excel 2016?
Options :

1. ¥ Minimize

2. % Start

3. ®% Maximize

4. % Close

Question Number : 2 Question Id : 2549897785 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A g )61 § GBI B T el a2
Options :

1.+ PIHdC Bl-dls

2. % HFD Hl-ae

3. % el plals

4, % RifHed Pl-als

Question Number : 2 Question Id : 2549897785 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following keyboards does NOT have numeric keypads?
Options :

1. % Compact keyboard

2. % Standard keyboard

3. & Qwerty keyboard

4. & Flexible keyboard
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Question Number : 3 Question Id : 2549898404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel H @1 T TR Ueh TSAT T 3794 gI3URSIeIe euie &l 82
Options :

1. % ATANH o=

2. % INVTAN HhaRH

3. % [TANH BhaRH

4. % HTANI R

Question Number : 3 Question Id : 2549898404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which function returns the inverse hyperbolic tangent of a number in MS-Excel?
Options :

1. % ATANH function

2. % INVTAN function

3. % JITANH function

4. % HTANI function

Question Number : 4 Question Id : 2549898703 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
o 7 9 o w=fit umon +ff gt S &2
Options :

1. % ST SABIHLA

2. % I TG HIST

3. % e U

4. % URdhel HIYT

Question Number : 4 Question Id : 2549898703 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following languages is also called as machine language?
Options :

1. % Binary information

2. % High level language

3. & Assembly language

4. % Pascal language

Question Number : 5 Question Id : 2549898860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
software is used by graphic artists for creating documents such as newsletters, brochures, newspapers, text books etc.
Options :
1. ®% Word processing
2. % Tally
3. % Desktop publishing

4. % Presentation

Question Number : 5 Question Id : 2549898860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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; I aaR &1 ITART At ST GRT YoleleR, SRR, AR UF, UIed G| 3M1fe; o SIaRgHT a1 o ford fasar sirar
I
Options :
1. % 98 YRR
2. & e
3. % STy TR
4. % USieRH

Question Number : 6 Question Id : 2549898938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

95 T 8 1 T yToT AT SR S B § STk 3UBT IUART U foree o ot fasan wire g2
Options :

1.+ 3= TR {1

2. % g Ty yw

3. % HRIHT TS

4. % fgerd yrom

Question Number : 6 Question Id : 2549898938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following languages is almost like the English language and is used for writing programs?
Options :

1. % High level language

2. % Low level language

3. % Machine Language

4. % Binary Language

Question Number : 7 Question Id : 25498911734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ctrl + Left Arrow is used to move the cursor
Options :

1. ® beginning of the Line

2. % one word left

3. ® one paragraph up

4. ® one paragraph down

Question Number : 7 Question Id : 25498911734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ctl+ AR W HTITNTHAR Y IR B b o fhar S g
Options :

1. % AT P Lo31a o

2. % U Yeg 914

3. % TP IR SW

4, % TP IR -

Question Number : 8 Question Id : 25498929726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafmior ufehar & SR g & A 59 UeR B ROM &1 TR a1 911 €, STet Tdie HHk! Id &1 i TS a1 TS (S[ETS)
GRI Al &I Wil & 3R R HeRUl & fow S ot Sl 82
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Options :
1.+ QigmHed I siiel AEd
2. % FxolEd e 3l AART
3. % fdqgd =0 Y gviaa IS 3iei HART
4, % TRIRT BERT

Question Number : 8 Question Id : 25498929726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which type of ROM is programmed during the manufacturing process, where the contents of each memory cell is locked by a fuse or
antifuse (Diode) and used for permanent storage.

Options :

1. % Programmable Read Only Memory

2. % FErasable Read Only Memory

3. & Electrically Erasable Read Only Memory
4. % Flash Memory

Question Number : 9 Question Id : 25498929890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IRBIS & Usd ©8 3 (FSforew) Mt &1 ygar Wem axifd §1 3rTel ufer 3ieh 1 axiid 82
Options :

1. ¥ 3f1gcH BT [SHIgT BIs

2. % 3{ISCH B YBAT

3. % AT & TR BT IS

4. % P & S BT DS

Question Number : 9 Question Id : 25498929890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The first six digits of the barcode is the manufacturer's identification number. The next five digits represent the:
Options :

1. % item’s design code

2. % item’s number

3. ® manufacturer’s city code

4. % manufacturer’s country code

Question Number : 10 Question Id : 25498929972 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
5 & A 1 A1 U USICTH 31 &2
Options :

1.« Sramfs Wb

2. % g

3. % f&mga siftp wfdw

4. % FAGETRA

Question Number : 10 Question Id : 25498929972 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a presentation attack?
Options :

1. % Biometric spoofing
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2. % Hacking
3. & Denial of service

4. % Non-repudiation

Question Number : 11 Question Id : 25498931261 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fthers {8 o WRTa I b1 dofg o1 61 Febell &7
Options :

1. % Y-S50 BT S%Te 7 g

2. ® U RAM

3. % JHT IR

4. % CMOS T TTeTd B18 8184 AT

Question Number : 11 Question Id : 25498931261 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A fixed disk failure is a result of:

Options :

1. ®= CD-drive not installed

2. % insufficient RAM

3. & slow processor

4. % incorrect hard drive settings in CMOS

Question Number : 12 Question Id : 25498931327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
USB gRT ¥ TR & Tdhe I 91T 82
Options :

1. % 8l

2. % Bor

3. & AT AR Fad

4. % TSY

Question Number : 12 Question Id : 25498931327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which type of packet is sent by the USB?
Options :

1. % Data

2. % Control

3. #% Data and Control

4. %= Address

Question Number : 13 Question Id : 25498933052 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TIfhas Caae BT 37 ford 1 F FHT Il 52
Options :

1. % UoR

2.« fSfSTeIgeR

3. & §H-US
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4. ® UoR%

Question Number : 13 Question Id : 25498933052 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A graphic tablet is also known as:
Options :

1. % pager

2. % digitiser

3. & book-pad

4. ® pantograph

Question Number : 14 Question Id : 25498933179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1GB §13eY & SRR g 8|
Options :

1. % 1099511627776

2. % 1073741824

3. % 1125899906842620

4. % 1048576

Question Number : 14 Question Id : 25498933179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1 GBis bytes.

Options :

1. % 1099511627776

2. % 1073741824

3. % 1125899906842620

4. % 1048576

Question Number : 15 Question Id : 25498933934 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ERLEl D I Tg- B TN SR (glass overlay) I et 82
Options :

1. ® Yfeq ca-wp A

2. % HURIfCd Ta-Tp

3. ¥ 3[R Ued RBIIH TI-FHI

4, % Gy 3PP 99 TI-KhIH

Question Number : 15 Question Id : 25498933934 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following touchscreens is made of a glass overlay?
Options :

1. ® Resistive Touchscreen

2. % Capacitive Touchscreen

3. & Acoustic Pulse Recognition Touchscreen

4. % Surface Acoustic Wave Touchscreen

Question Number : 16 Question Id : 2549898160 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

ﬁuﬁﬁﬁqﬁw 3171"1:[[%[ (permissions), Windows OS ﬁWuﬁ@aﬁqﬂsﬁrﬁéaﬁ HId BIU B 3R LCL | %ﬁﬂ
rgafa T g2

Options :

1. # XSC (Write)

2. % AT (Read)

3. % ThliceR & AT fore e (List folder's contents)

4. % OSHTE (Modify)

Question Number : 16 Question Id : 2549898160 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following file permissions allows to only copy and view data in a folder's files in Windows OS?
Options :

1. = Write

2. % Read

3. % List folder's contents

4. % Modify

Question Number : 17 Question Id : 2549898207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gaﬁ'c’@?ﬂmasp)Wmﬁmmaﬁﬁﬂﬁiﬁ@ﬂéﬂamwwﬁ&ﬁ?ﬁwﬁﬁ%@ﬁﬂ ARG
|

Options :

1. % 8P foRC (Hacklists)

2. %3S foRe (Redlists)

3. &P fOIRC (Blacklists)

4. % fShleex (Defaulters)

Question Number : 17 Question Id : 2549898207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Internet Service Providers (ISP) refer to to detect and block any spam emails entering their network.
Options :

1. * Hacklists

2. % Redlists

3. % Blacklists

4. % Defaulters

Question Number : 18 Question Id : 2549899611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Bic Afeay fiier & ded & Fufafed 3 d eH-ar v 82
Options :

1. % 3P I URMNG ArTd gt 7 |

2. % 3P I AT AN Bt 8

3. % g T 3R 71} uRfufaat & e 7 R gwar g1
4. v fiTS 33eye Y o= T8I |

Question Number : 18 Question Id : 2549899611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

Which of the following is true with reference to dot matrix printer?
Options :

1. % It has high initial costs.

2. % It has high running costs.

3. ® It cannot perform in hot and dirty conditions.

4. % The printed output is of low resolution.

Question Number : 19 Question Id : 25498910778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Windows 10 3TF (0S) & R fliex &) RN (install) B4 a7 Siie & forw 9 7 T {59 fasea &1 IuanT forar smar g2
Options :

1. @TE > & > fgargy > fifex iR W R

2. ® @E > & > T > flfex iR W

3. % W > T > ey > ffer iR R

4. % W< > JfEY > Aegd 3R e > R IR R

Question Number : 19 Question Id : 25498910778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following options is used to install or add a local printer in Windows 10 OS?
Options :

1. % Start -> Settings -> Devices -> Printers & scanners

2. ® Start -> Settings -> Apps -> Printers & scanners

3. & Start -> Settings -> System -> Printers & scanners

4. ® Start -> Settings -> Network & Internet -> Printers & scanners

Question Number : 20 Question Id : 25498911221 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

SIS, Ra 3R SR T 0 TR &, Udd T 31elT eaf Id Il & |
Options :

1. % THOAIBRR &

2. ¥ THABIR b

3. % ARHIHH &

4. % WA &

Question Number : 20 Question Id : 25498911221 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Dynamic, ribbon and condenser are three main types of , each producing a different sound.
Options :

1. & amplifiers

2. #® equalisers

3. % microphones

4. ® gpeakers

Question Number : 21 Question Id : 25498913431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

difsay W@'FT (?ﬂﬁ?zﬁ) P T ﬁ, THRS HHITE ﬁ, ifafeed e (redundant frames) fﬂﬁ %I

Options :

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 9/38



27/02/2023, 16:24 https://g01.tcsion.com/CAE/viewHtmIPDFAction.action
1. % Faryd
2. % g (removed)
3. & W%ﬁ(storcd)
4. & IAARS

Question Number : 21 Question Id : 25498913431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to video compression, in temporal compression, redundant frames are
Options :

1. ® organised

2. % removed

3. % stored

4. % channelised

Question Number : 22 Question Id : 25498918481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

& 3T MS Word 2019 T feft ST (document) 1 fife FHRa T BT BT JE-SHTHR (US-A15w) (e @) w1 argd €, a
75 7 2 {5y fawed &1 99 Tgt g

Options :

1. % File -> Print -> Orientation

2. % File -> Print -> Paper Size

3. #% File -> Print -> Page Source

4. ® File -> Print -> Margins

Question Number : 22 Question Id : 25498918481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If you want to set the page size of the paper while printing a document in MS Word 2019, then the correct option is:
Options :

1. * File -> Print -> Orientation

2. " File -> Print -> Paper Size

3. #% File -> Print -> Page Source

4. ® File -> Print -> Margins

Question Number : 23 Question Id : 25498918558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SId 3TT Windows OS DT RITU (installation) G| % @l ed ReH (File System)' R7fter &1 feWiee A a1 grar %?
Options :

1. % FAT 16

2. % NTFS

3. % FAT 32

4. & HDFS

Question Number : 23 Question Id : 25498918558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the default value of the 'File System' parameter when you install Windows 10 OS?
Options :

1. % FAT 16

2. % NTFS
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3. & FAT 32
4. = HDFS

Question Number : 24 Question Id : 25498919292 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

370 ¥ HH-TT, BF (hub) BT TP UHR a1 82
Options :

1. % IR se

2. ¥ Ufded gd

3. ® geferic ga

4. v Rafdge

Question Number : 24 Question Id : 25498919292 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a type of hub?
Options :

1. ® Passive hub

2. % Active hub

3. % Intelligent hub

4. % Switching hub

Question Number : 25 Question Id : 25498919324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TP Ty o (BEIRIIP) BT AR W HY Ao (stylised) [T SITam 82
Options :

1. % 3 IS ST AT & |

2. # Y WIPHd (underlined) fHaT TR

3. % Ug 3Cfileh -1 ST B |

4. % TY G Y BT (striked off) fHTT T B |

Question Number : 25 Question Id : 25498919324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How is an active link (hyperlink) usually stylised?
Options :

1. % It is made bold.

2. % It is underlined.

3. & Tt is italicised.

4. ® Tt is striked off.

Question Number : 26 Question Id : 25498919453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word & TRTITH g & fore A & ¥ forg wiidare o1 Juai fovan S g2
Options :

1. v IR R feua-faas a3

2. % RPN R Sqd-fadsd B

3. % Ctrl + RIUTH W e &Y

4. % Alt+ IRTUTH R fFae Y1
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Question Number : 26 Question Id : 25498919453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following shortcuts is used to select a paragraph in MS Word?
Options :

1. % Triple-click on a paragraph

2. % Double-click on a paragraph

3. ® Ctrl + click on a paragraph

4. ® Alt + click on a paragraph

Question Number : 27 Question Id : 25498920719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T D T 1P TS b TR sifee b I iR ew gien b R de 8 7
Options :

1. % 0011

2. % 1110

3. % 0000

4. % 1111

Question Number : 27 Question Id : 25498920719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

The higher order bits of the first octet of IP addresses belonging to class D are always set to:
Options :

1. % 0011

2. % 1110

3. % 0000

4. % 1111

Question Number : 28 Question Id : 25498922683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Software that you were using on your old computer system is NOT working on your new system. Which of the following could be the best
possible description of the underlying problem?

Options :

1. % The software might not be compatible with your new system.
2. % There could be a problem with USB ports.

3. & Hard disk might not be spinning properly.

4. % Monitor might be malfunctioning.

Question Number : 28 Question Id : 25498922683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IR ST 3T 30 R HeR RReH IR AT HR g ¥ 98 3N ¢ Red R &4 81 &= 61 ¢ | Fafiied § 9 oA
Sfaffea T &1 TYq f3aR1 8 gaval 82

Options :

1.+ TTedTR 3T U fRYeH & 1Y WA (compatible) &1 81 Jbdl g

2. % USB UICH & 1Y JHW 8l Tdhell ¢ |

3. % 318 &% 3l% I g0 181 @ B

4. % e W9 81 gl gl
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Question Number : 29 Question Id : 25498924441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
mﬁﬁ@ﬁ-m@gwunuxquﬁmmé?
Options :

1. % NTLDR

2. ® LILO

3. % GRUB

4. = LOADLIN

Question Number : 29 Question Id : 25498924441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following boot loaders is NOT used by Linux?
Options :

1. % NTLDR

2. % LILO

3. % GRUB

4. % LOADLIN

Question Number : 30 Question Id : 25498925365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SR P Yo §, gERATH R B2

Options :

1. % RAM TR 99 fUT (current state) BT TIRIT B SHoll-sdd SUTT & =0 H SUTNT {01 w1t g |

2. % BT3 S12d W adAM fRURT (current state) BT TR HRPb FHoll-Td B dTd IUTI & Y T JUNT fwa ST g1
3. % 8T8 $13d R IdHM UM (current state) BT UG HXP SHoll-gad ST & U & IUANT fwa ST g1

4. % RAM R g9 FRURT (current state) B TUST BP SHoll-d B AT SUN & &0 H IUTIT a1 S 8|

Question Number : 30 Question Id : 25498925365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to computers, hibernation is:

Options :

1. * used as an energy-saving measure by storing the current state on the RAM

2. % used as an energy-spending measure by storing the current state on the hard drive
3. %" used as an energy-saving measure by storing the current state on the hard drive

4. % used as an energy-spending measure by storing the current state on the RAM

Question Number : 31 Question Id : 2549896761 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who is the CEO of the OpenAl, the company which created the ChatGPT tool?
Options :

1. ® Satya Nadella

2. % Sam Altman

3. & Sundar Pichai

4. % Elon Musk

Question Number : 31 Question Id : 2549896761 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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ChatGPT €& S aTell S0 OpenAl & WISl (CEO) HIH 82
Options :
1. ® garAsal
2.+ TN 3t
3. % gox =g
4. % T I%D

Question Number : 32 Question Id : 2549896778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Sexte 3 Tl B g A Q P 1 ST B2
Options :

1. % g o

2. % SO

3. ¥ GRWRIAD

4.+ Les OIS Uik Iwiis

Question Number : 32 Question Id : 2549896778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to the internet, which of the following is the odd one out?
Options :

1. & Search engine

2. % Browsers

3. % Hyperlink

4. % Switched Mode Power Supply

Question Number : 33 Question Id : 2549896980 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ZeT STSOR 1 ST UiEe &1 U39 9109 | o STH & fog, a1 U8 a1 H URL & ST8dI8e oA & g |
Options :

1. ALT+D

2. % ALT+A

3. & SHIFT + TAB

4. & TAB + CTRL

Question Number : 33 Question Id : 2549896980 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Press to move the insertion point to the address box, or to highlight the URL in the address box in internet browsers.
Options :

1. ALT+D

2. % AIT+A

3. & SHIFT + TAB

4. & TAB + CTRL

Question Number : 34 Question Id : 2549897426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 B {5 & &1 JUaITT &vap 30 30 Slagiic &1 fife i3 s # < 9ahd &2

Options :
I. = REVIEW
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2. % VIEW
3. &= DESIGN
4. % REFERENCES

Question Number : 34 Question Id : 2549897426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

By using which tab can you view your document in a Print Layout mode in MS-Word 2019?
Options :

1. ® REVIEW

2. % VIEW

3. % DESIGN

4. % REFERENCES

Question Number : 35 Question Id : 2549897434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T4 HY Ha= MS-Word 2019 & ford <& & HiS[g 81T 82
Options :

1. ¥ W33

2. %

3. % 3C

4. % IS

Question Number : 35 Question Id : 2549897434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The drop cap function is available in which tab of MS-Word 2019?
Options :

1. ®= Layout

2. & View

3. % Insert

4. % Format

Question Number : 36 Question Id : 2549897912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafafed o @ o1 3 SFar & STERdl B IR HRA & Al IWHR BT &HdT B e &b I3 I Juft uferarsit & g ofik TR
TNt (3T & ThiHRu oI Yefifd Har 82

Options :

1. ¥ SIaY

2. & of

3. & 3Py

4. % SR

Question Number : 36 Question Id : 2549897912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following refers to the integration of Information and Communication Technology (ICT) in all the processes, with the aim of
enhancing the government's ability to address the needs of the general public?

Options :
1. % E-Governance
2. % E-Banking

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 15/38



27/02/2023, 16:24 https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

3. & E-Commerce
4. ® E-Shopping

Question Number : 37 Question Id : 2549898115 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
MSExcelﬁmﬁﬁﬁﬂ@mﬁﬁﬂﬁﬁmﬁaﬁaﬁﬁ%?
Options :

1. & fE 3 gRT foRd o1 38 7F1 ¥ P18 oft BUTess 781 ©

2. % g MU gRI ford 1@ a1 A 9 fpeht w1 it A g et &
3. % T 3MUS Uy AT § 3iferep vl AT &

4. TS 3MUP GRT ford ST a1 31 sl o SgIAY 4|l U= §

Question Number : 37 Question Id : 2549898115 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Under which of the following conditions is the pie chart in MS-Excel NOT recommended?
Options :

1. % None of the values that you want to plot are negative.

2. % Almost none of the values that you want to plot are zero values.

3. & You do not have more than seven categories.

4. % You have multiple data series that you want to plot.

Question Number : 38 Question Id : 25498910495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2016 & 3{Te] d¥de od § g & ¥ 1 1 fyspeq Aieg 1Y g1 32
Options :

1. % g & Ugd 3HeR DI piucagsd Bl

2. ® A & AW Hfeass |

3. % 090 U9 P UBH 31&R DI bl Y|

4. ® CAPS LOCK & &P YN Bl 31 By |

Question Number : 38 Question Id : 25498910495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following options of the Auto Correct tab is NOT present in MS-Excel 2016?
Options :

1. ® Capitalize the first letter of sentences

2. % Capitalize the names of days

3. % Capitalize the first letter of table cells

4. & Correct accidental use of CAPS LOCK

Question Number : 39 Question Id : 25498910531 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word 2016, which of the following feature is used if the table's cells need to be automatically expanded to fit the text inside them?
Options :

1. % AutoFormat

2. % AutoFit behaviour

3. ® Table content

4. & Table size
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Question Number : 39 Question Id : 25498910531 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2016 5, Fafafaa & 3 forg BiR &1 IuanT dd fodT Sid & Oid ¢9d & Icq Bl TRe Dl 37 3iaR fhe He & forg
TaTferd U  fawaTid B Pt TaRIDH T 8l 82

Options :

1. % 3ffe) wide

2. + 3ffcifthe fagfamr
3. & CqA dhec

4. % <9 IR

Question Number : 40 Question Id : 25498910569 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ugel A5 $8¢ S & L, SR B IRMMB S Ugell a3 h TR IW 3R ¢d &) I @l
Options :

1. % 3RY

2. & 3fd

3. % U5 Teg ] BISH

4. % Ugd I V| &l BIGHR

Question Number : 40 Question Id : 25498910569 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To create a first line indent, we have to place the cursor of the first line of the paragraph and press the tab key.
Options :

1. % at the beginning

2. # at the ending

3. & by skipping the first word

4. % by skipping the first two words

Question Number : 41 Question Id : 25498910580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2016 H ¥aR P HIUS SHTs 9 A J o9 I T8l 82
Options :

1. ® 39

2. WA

3. ® Wgey

4. % fefidicR

Question Number : 41 Question Id : 25498910580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT the measuring unit of the ruler in MS-Word 20167
Options :

1. * Inches

2. % Lines

3. ® Points

4. % Millimeters

Question Number : 42 Question Id : 25498910618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
MS-Word # i & 3R & e H TP Uise foha 39 & SRI6R oIl 62
Options :
1. %= 1/36
2. %1
3. & 172
4. % 1/72

Question Number : 42 Question Id : 25498910618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One point equals about how many inches with reference to font size in MS-Word?
Options :

1. % 1/36

2. %1

3.5 12

4. % 1/72

Question Number : 43 Question Id : 25498910716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word & T8 3R Rk SHaiT died & forg icwhe ot |1 g?
Options :

1.% Ctrl + H

2. #% Ctrl + Shift + F

3. ®Cul+G

4. % Ctrl +R

Question Number : 43 Question Id : 25498910716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the shortcut key for 'Find and Replace' dialog box in MS-Word?
Options :

. % Cul+H

2. & Ctrl + Shift + F

3. % Cul+G

4. % Ctrl + R

Question Number : 44 Question Id : 25498911479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct checkbox option under "When correcting spelling in Microsoft Office programs' in the Proofing option of MS Word
2016.

Options :

1. % Ignore words that contain numbers

2. % Ignore sentences that contain numbers
3. # Ignore phrases that contain numbers

4. % Ignore lines that contain numbers

Question Number : 44 Question Id : 25498911479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2016 3 Fith faeed & AShage SHifthd TR § ac-T Ue! dHRd THT U5 dhala [ddbed & UgdM Hitod |
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Options :
1.+ 31 TGl B SFCHE PX forTH TBAT §
2. % I AR BT S B T8 A §
3. % I IR BT SAGET X o H GBI &
4. % I dferdl BT ST P o H GBI &

Question Number : 45 Question Id : 25498911875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is sum of the given hexadecimal numbers - (F);4 and (B);4?

Options :

1% (19)16
2. % (25)54
3. % (FA)4
4. % (AF)q

Question Number : 45 Question Id : 25498911875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fou T ST RITa GBATSH - ()6 3R (B) BT AT T 82
Options :

1. % (19)14

2. % (25)(6

3. % (FA)16

4. % (AF)6

Question Number : 46 Question Id : 25498912484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
MS-Word H 310 R $d SIS Jobd 82
Options :

1. = @ﬁ%’et&%ﬁ»w

2. 3 ¢F R T Y -> Pev

3. & Ofe o9 W faad &% > Fex
4. % YT R faad &3 - > Fe?

Question Number : 46 Question Id : 25498912484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
How can you add a footer in MS-Word?
Options :

1. ® Click on Home tab -> Footer

2. % Click on Insert tab -> Footer

3. ® Click on Mailings tab -> Footer

4. % Click on View tab -> Footer

Question Number : 47 Question Id : 25498919190 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
MS-Word 2019 ! e HSl (merge) UfohaT T =T TR G § I S 1 82

Options :
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1.« UThd! BT Igq He

2. % SRHT P UHR BT I B
3. % IRIYD SIFgHC BT T BN
4. ® 30T e ford

Question Number : 47 Question Id : 25498919190 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is the third step under the mail merge process in MS-Word 2019.
Options :
1. % Select recipients
2. & Select document type
3. #% Select starting document

4. % Write your letter

Question Number : 48 Question Id : 25498925299 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 TTSd &1 3 -TH J Ud B & oY 34 B 1 faded AT
Options :

1. % ¢, TR, Y9 R o d

2. % HI3d, ¥d IR faddh B

3. ® Ctrl + S GaTU

4. % BT3d, 99 TS IR faad B

Question Number : 48 Question Id : 25498925299 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which option will you choose to save an MS-Word 2019 file with a different name?
Options :

1. * Click Tools, Options, Save

2. # Click File, Save

3. & Press Ctrl+S

4. % Click File, Save As

Question Number : 49 Question Id : 25498925322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2016 %1 fSWice U SIS &l gIdT 52
Options :

1. % Oide

2. % ASWHY

3. % RS

4. % dlgs

Question Number : 49 Question Id : 25498925322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the default page orientation of MS-Word 2016?
Options :

1. % Portrait

2. & Landscape

3. & Mirrored
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4. ® Wide

Question Number : 50 Question Id : 25498925323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word & Fethiee 0w IRGRTA R I Al e U SuE Ad el
Options :

1. % hYH

2. % 3ifh

3. & SRR

4. % HH YT RIS

Question Number : 50 Question Id : 25498925323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the default page orientation of MS Word, the width of the page is than the height of the page.
Options :

1. % lesser

2. # greater

3. % equal

4. ® less than or equal to

Question Number : 51 Question Id : 25498925498 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word & it STaqiic &1 ¥d & & 91G, SIagHc H1 1 Bl IR USRid gial 82
Options :

|. % TSR

2. % WIHIRH

3. ¥ CECA IR H

4. % REAW

Question Number : 51 Question Id : 25498925498 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

After saving a word document in MS-Word, the name of document appears on:
Options :

1. % Menu bar

2. & Status bar

3. % Title bar

4. % Ribbon

Question Number : 52 Question Id : 25498933750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B3 TP S W ST b AL I ST 3R Bl U BT
Options :

1. % OaifgT

2. SIS

3. % fgefifen

4. % GRAT
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Question Number : 52 Question Id : 25498933750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

means receiving data or a file from the Internet on your computer.

Options :
1. % Uploading
2. % Downloading

3. ® Deleting
4. ® Sharing

READING COMPREHENSION
Section Id : 2549896987
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 5
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897028
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 25498921079 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)

fau U TeY Y Ui 3R ITP 91 3 aTd Ul P IR STl

IRAT R

73 faeet, 25 Sa) 2015: 715 faeel! 24 S D) HRA P $© T To1gR gl B JURYT BT TdTg &1 S1d YLTTHAT 7 I3 I
FRAT REHR Te™ 1| I8 TREGR T a0 &1 U gl T 7= Ui 26 THa) IS &1 o1 8171 | [RIHR YARIE § Heg a1dt Td
afgan faem =it 3R A dureH e Tt 3y fera)

39 UfAfSd [ROR & 58 faoar g

313 Y P [RIGHUC I P 30 el 99 & U o i 9Uc H M IR Wl 1T 1 1 9 & f1g GREpR forerl | Hierg
uifar 3rof Rig 1 3ot 6T & 919 ¥ F9H & oI IR fBra | aRE auifa sRiAe A &) Afgarsii &) digg Wie Tex ared & ga-
TR e U AHIYH PoRk H3dls DI a8 BIC & $UH B 3R T TSH| Bl ga- & M b 1T T el | & A1l b1
STHAT Iehad! I 3! AT BT B B B HFT I8 Th IR U HIF aT09 B4 04 & ot REpR e

2 JFEER 1957, e Sl e W, UfSd Sareed Ag U Aled < 38 Y| Aled & SR e Ffdhe I g & T & T8 | g
TG W13 BRI d% T A I SHTAT A T 3R Teld §U TG P! BIe B U e! b ANl o a1 forn | 39 ge1 4 oRd
BIDR g A SHYBTRYN A R <R & TEIGR Il BT M DA & T Ueb JRRBR R B & ol a7 | sﬂﬁﬂqrguaﬁw
REHR TS T8 U HERE IV 31 I & I T ) RIBR 1 & 350 W Y& $1 718 2R i~ Ipy diRar fears gt s ot s
HT Y 3T T DI IR FHR 8 | TRBR faoidraefl &1 gges, TH10 0, SR Tdhe RIGR YaH faar St § | STEgid TieiT & T &
FUH YIS I BT 301 Wil RI&T I8 FH=A 3 for ot weraan f firad 8|

Sub questions

Question Number : 53 Question Id : 25498921080 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
R REBR Ul I GRIUGH fbU omd 51
Options :
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1. % $glg §Td Td Afgen fasbrg wAl
2. % G 1Y fdbr w3t
3. % YR & JYTHA
4. % YRd & JPUfd

Question Number : 54 Question Id : 25498921081 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
IRATTOR MAARWR I RTSA S|
Options :

1. % 25 A

2. % 24 SR

3. % 26 SR

4. % 2 3dga’

Question Number : 55 Question Id : 25498921082 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FafifRd S & § B9 IR 9 ey ST 82

Options :

1. & QGHd gl DI U A d, IRl YAV, SEGRT 3R T <! e 8|
2. & QGHd gl &I U HSd, WG 0, TS G A1 3R Th ¢! e g
3. P d Sl B U BSd, YHIUNTH, $B e A1 3R STy e g1

4. % & g DI U DS, YAV, $S TG A1 SR T It e 8|

Question Number : 56 Question Id : 25498921083 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tt AR R S Rudm e Ao et eyl
Options :

1. % gRE q9 4 HH

2. % 3GRE Y ¥ 3P

3.+ B8 Y 36RE a¥ & did

4. % FgYdicg a¥ & &g

Question Number : 57 Question Id : 25498921084 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TH2015 T RGR U@ SRA A qed dASTH g4 |
Options :

1. ¢ &1 9uc T 3T 3o a9 A 30 1T & S o

2. & T T H B YS! ATl b S o

3. % U BIC & HUH HG HR gadl g3 ASHI DI Sl T

4. % 3O AT I STY Y TR AT

Question Id : 25498921079 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)
Read the given passage and answer the questions that follow.

Bravery Awards

New Delhi, 25™ January 2015: New Delhi witnessed the gathering of some of India’s bravest children on January 24, when the Prime
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Minister presented the National Bravery Awards to them. Twenty five children received these awards. These children will also be a part of
the 26th January Parade. The Awards ceremony was attended by the Union Minister of Child and Women Development and Minister of
Human Resource Development.

A few winners of the prestigious award are:

Eight-year-old Shivampet Ruchitha received the award for saving her school mates when a train hit their school bus. Sixteen-year-old
Arjun Singh received the award for saving his mother from a tiger. Twelve-year-old Aromal saved two women from drowning in a fourteen
feet deep pond. Thirteen-year-old Chongtham Kuber Meitei received the honour for jumping into a ten feet well and saving a girl from
drowning. Ten-year-old Joena Chakraborty received the award for getting her mother’s phone back from a robber who had snatched it and
run away.

On Gandhi Jayanti day, 2 October 1957, Pandit Jawaharlal Nehru, was watching a performance. During the performance, a short circuit
caused a fire to break out in a tent. Harish Chandra Mehra, a fourteen-year-old scout, promptly took out his knife and ripped open the
burning tent, saving the lives of hundreds of trapped people. This incident inspired Nehru to ask the authorities to establish an award to
honour brave children from all over the country. Hence, the National Bravery Award scheme was started with the aim of awarding children
in the age group of six to eighteen years, who display outstanding bravery and inspire other children with their actions. The awardees are
presented a medal, a certificate, and a cash prize. As a part of a scholarship scheme, each child also receives financial assistance to
complete his or her schooling.

Sub questions

Question Number : 53 Question Id : 25498921080 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Bravery Awards are presented every year by .
Options :

1. % The Union Minister of Child and Women Development
2. % The Minister of Human Resource Development

3. % The Prime Minister of India

4. % The President of India

Question Number : 54 Question Id : 25498921081 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Bravery Awards are usually presented on
Options :

1. % 25% January

2. w 4th January

3. # 2eth January

4. % 27 October

Question Number : 55 Question Id : 25498921082 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements gives all correct options?

Options :

1. % The awardee gets a medal, certificate of bravery, a scholarship and a trophy.

2. % The awardee gets a medal, an appreciation letter, some cash money and a trophy.
3. % The awardee gets a medal, a certificate, cash money and a scholarship.

4. % The awardee gets a medal, a certificate, cash money and a trophy.

Question Number : 56 Question Id : 25498921083 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Children eligible for the National Bravery Award shouldbe .
Options :

1. % below twelve years of age

2. % above eighteen years

3. % between six to eighteen years
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4. ® between six to fourteen years

Question Number : 57 Question Id : 25498921084 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The youngest child to receive the award in the year 2015 had
Options :

1. % saved her school mates when a train hit their school bus
2. % gsaved hundreds of people trapped in a burning tent

3. % jumped into a ten feet well to save a girl from drowning

4. % saved his mother from a tiger

QUANTITATIVE APTITUDE
Section Id : 2549896988
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897029
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 58 Question Id : 25498914317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The value of the question mark (7} in the following exprassion is:
A003 = 7Y — 21015 =" x 116

Options :

1. % 2477

2. % 2478

3. ¥ 2467

4. % 2476

Question Number : 58 Question Id : 25498914317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ot i T e 7 Wy T (7) & e e e

4003 % 77 — 21015 =7 x 116
Options :

1= 2477

2. & 2478

3. & 2467
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4.« 24786

Question Number : 59 Question Id : 25498928804 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An amount is to ke divided among PO and B in the ratio of 20 5 0 7, rezpectivelv, If the amount received by R is
4,000 more than he amount peceived by Q, what 15 e tolal amount recedved by P and O together?

Options :

1. % %8,000

2. % 12,000

3. % 16,000

4. % 314,000

Question Number : 59 Question Id : 25498928804 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frelr o &1 P, @ 3R R & dror @ 3 : 5 0 7 & 3w & Rnfew B == 81 3R R @ W
T Q ZANT 9res A F 4,000 THT HE T AT P AT Q ZE TR W T e g@eh

Options :

1. % %8000
2. % 12000
3. % 216000
4. % 14000

Question Number : 60 Question Id : 25498928850 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that can replace the question mark (7} in the given equation,

z 3 3
4&9&:-:_?:{4.—.

Options :
1. % 800
2. % 760
3. %920
4. % 880

Question Number : 60 Question Id : 25498928850 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fFrafaias 5 9 @9 1 A, 1= T sdem § os g () @ aimitd & 5 g

J‘ﬂ.nﬁxéxi ]
A _F 4 .

Options :

1w 800

2. & 160

3 % 820
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4.« B80D

Question Number : 61 Question Id : 25498929093 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The valie of the question mark (7} in the following expression is:

15h » 2496 = 96 = (7 —114%) x 31
Options :
1. % 425
2. w245
3. ® 355
4. ® 495

Question Number : 61 Question Id : 25498929093 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

=TT s F AT (7) F TS 57 F0 JeET

165 = 2496 + 96 = (7 - 115) = 31
Options :

| = 425
2. 245
3. & 355

4. % 495

Question Number : 62 Question Id : 25498929363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tt the population of a town reduced by | 224 in the yoar 2008 and increased by 1 5% in 2009,
then what was the percentage effect on the population in the beginning of 20107

Options :

1. % 1.2% increase

2. % 3% decrease

3. & 3% increase

4. % 1.2% decrease

Question Number : 62 Question Id : 25498929363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T T oET B FEEE 2008 # 12% F g¥ ot 2009 # 15% @@ M A 2010 F W A SHGw

o7 TTEeE TS I g
Options :

Lo 1.2% 3y
). E 3% AT

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 27/38



27/02/2023, 16:24 https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

- 3% 3fY
4 % 1.2% =AY

Question Number : 63 Question Id : 25498929577 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

|
2a+bWd = .ql'.-? F BT+ 443 | then the value of (3 + b) is:

Options :
1. %2

2.%3
3.% 4
4. &7

Question Number : 63 Question Id : 25498929577 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e I ey
e 2a + by3 = JIHBTH4T, &l A6 (o + b) &1 A Fha=1 gren?

Options :
& 2
2.9 3
3 & -I'J-
4.% 7

GENERAL MENTAL ABILITY AND REASONING
Section Id : 2549896989
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897030
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 64 Question Id : 25498912864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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T & 7T ITRIT P YR W EferiRad Uy &1 3w <

YW@1&CN3PLB91=D*E2£MV$7#4FG5

IRIFd IR H IR & F fi 37! FRURA & 3R R v Fffa Tt I T 8 3R T g &1 Fufur o 8| Fafafaa A @ o
1 Ig ¥ el T R

Options :

1. % *V2M

2. % 12DE

3. LDE=

4. ® VF74

Question Number : 64 Question Id : 25498912864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Study the given arrangement and answer the question that follows.

YW@1&CN3PLB91=D*E2£MVSET7#4FGS

Three of the following four options are alike in a certain way based on the above arrangement and hence form a group. Which one does
NOT belong to the group?

Options :

1. #*V2M
2.%12DE
3. LDE=
4. " VF74

Question Number : 65 Question Id : 25498912875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o0 T w1 & o1eRi F U e OIS €, o8 @ Ui & g I €1 31eR & o sl qufarar & 3+ a9
CREDENTIAL

Options :
1. ®Q
2. ® qH
3. B TR
4. % IR Y 3D

Question Number : 65 Question Id : 25498912875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find out how many such pairs of letters are there in the given word each of which has as many letters between them in the word as in the
English alphabet.

CREDENTIAL
Options :

1. % Two

2. % Three

3. % Four

4. % More than Four

Question Number : 66 Question Id : 25498918990 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
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frafeRad areg o vum iR sifaw wee Bis feu e B fou U IR faseat § Q 2edi & I OIS T T B Sl Rad RIFT R
TIRId 811 WR 1o &l I 3R s a1 9 |

PRI TR IO A AR

Options :
1. % Sifd — et
2. % gR-IHhd

3. ® R - 3ol
4.« S — 3ol

Question Number : 66 Question Id : 25498918990 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following sentence has the first word and the last word left out. Choose the pair from among the four pairs of words that will fill the
blanks so that the sentence becomes true and sensible.

is to Lose as Pass is to
Options :
1. ¥ Win; Succeed
2. & Lost; Succeed
3. #® Lost; Fail
4, %" Win; Fail

Question Number : 67 Question Id : 25498919611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 o Weal & ey H Ja I faarur aret faseu o1 g 3|

%?‘T:éﬁzgaﬁ’r

Options :

1. % Y qarsff R I g

2. & TH Searg &1 oRevd 8|

3. % JEnfeargl

4. JAP 3 TH HAR Il gial gl

Question Number : 67 Question Id : 25498919611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate description about the given set of words.

Cherries : Berries : Apricot
Options :

1. ® They grow on creepers.

2. % They need hot climate.

3. % They are shurbs.

4. % They have a hard seed inside.

Question Number : 68 Question Id : 25498919740 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafifad vy R & 7 IR W anuid §:

graTioTes O, o iR fagm & uien 39 ardt 450 IWGAR] & 3fids i fAu MU §:
gt fawal & o 167
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gt fawai & % 60
AT fas # Wt 175
Tford ® et 199
o 5 % 191
SHacl AT fax H U 62
S TIOrd | I 48
S faT # U 52

et il U v 2 el g2
Options :
1. ®% 152
2. % 144
3. %6l
4. % 56

Question Number : 68 Question Id : 25498919740 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Study the given data and answer the question that follows.

Data on 450 candidates who took an examination in Social Science, Mathematics and Science is given below:
167 students passed in all the subjects. 60 students failed in all the subjects

175 students failed in social science.

199 students failed in mathematics.

191 students failed in science.

62 students passed in social science only.

48 students passed in mathematics only.

52 students passed in science only.

How many candidates failed in one subject only?
Options :
1. & 152
2. % 144
3.% 61
4. % 56

Question Number : 69 Question Id : 25498927902 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T faehed &1 90 B3 o AR g Y Slop I TebR aifdid & S GORT Weg Ugdl Veg, J FaifAid g
m@:%ﬂ%ﬂ::ﬁl’qﬂ(ﬁ@ 2 ?

Options :

1. ® g &l an

. & dJgdell

TR (8130
Rezil

.

AW

Question Number : 69 Question Id : 25498927902 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third word in the same way as the second word is related to the first word.

Horse : Neigh :: Jackal : ?
Options :

1. ® Squeak

2. & Chatter

3. % Howl
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4. % Bray
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GENERAL AWARENESS
Section Id : 2549896990
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897031
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 70 Question Id : 2549895293 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who among the following wrote the 'Ashtadhyayi'?
Options :

1. & Ved Vyas

2. % Panini

3. & Shukadeva

4. % Balmiki

Question Number : 70 Question Id : 2549895293 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
\SETATY forg ferdt ot

Options :

1. ¥ dq Y

2.« OO

3. % Yhad

4. % qredif

Question Number : 71 Question Id : 25498912517 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Wildlife Week is annually celebrated across India from:
Options :

1. % 2-8 October

2. % 1-7 June

3. % 16-22 April

4. % 14-20 January

Question Number : 71 Question Id : 25498912517 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
YR H a1 =0 § a7 Siigeig 9we D AT ST ] |
Options :
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1. % 2-8 3R

2. ® 1-79A

3. % 16-22 30

4. % 14-20 SR

Question Number : 72 Question Id : 25498929950 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Caledonian orogenic movements are related to the geological history of:
Options :

1. % the late Jurassic and early Cretaceous period

2. % the late Silurian and early Devonian period

3. ® the middle Triassic period

4. % the late Devonian and early Carboniferous period

Question Number : 72 Question Id : 25498929950 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FASIA RIS Tafafat fees e sfigr 3 4efid &
Options :

1. % fadfad (de) RIS 3R URMYS B HTd

2. + faafad (cie) Righa Sk TR Saifae &ra

3. ® gy foariie &rd

4. % fIdifed (@) ST 3R TRMNS HEHhY HId

Question Number : 73 Question Id : 25498932059 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The birthplace of the iconic personality, Amrita Sher-Gil is:
Options :

1. % Hungary

2. % India

3. & Austria

4. & Poland

Question Number : 73 Question Id : 25498932059 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ufaf¥d safadd, ST IRATA BT 1 RIF $HIF-91 82
Options :

1.+ §-

2. ® YRd

3. % 3fifkear

4. % Orcfs

Question Number : 74 Question Id : 25498935789 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs of natural reserve and state is/are correctly matched?

1. Dampa Tiger Reserve - Mizoram

2. Gumti Wildlife Sanctuary - Sikkim
3. Saramati Peak - Nagaland
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Options :
1. %= Only 1
2. % Only 2 and 3
3. %" Only 1 and 3
4. % 1, 2and 3

Question Number : 74 Question Id : 25498935789 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

U faes Rord 3R Iou o1 Fafefad 7 & oiH-a1 g I8t gaferd 3782

1. U1 TR Rord - fieiRe
2. TS ISl SIHURUY - Rifdnd
3. TRHTE A - ATMCS

Options :

1. ® $ad 1

2. % Had 2 3R 3
3. % $Had | 3R 3
4. % 1,233

Question Number : 75 Question Id : 25498937112 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following geographical pairs is/are correctly matched?

1. St Petersburg - Gulf of Finland
2. Stockholm - Baltic Sea
3. Oslo - Norwegian sea

Options :

1. = 1 only

2. % 1 and 2 only
3. % 2 and 3 only
4. % 1,2and 3

Question Number : 75 Question Id : 25498937112 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fafefed & 3 S1-a1/8 i gm J8! gafid 8/8?

1. Je tedar - fbcls &t @ret
2. WD - dfecd IR
3. 3NN - AT PR

Options :

1. ® Had 1

2. % PHad | 3R 2
3. % PHad 2 3R 3
4. % 1,233
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Maximum Instruction Time : 0
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Sub-Section Id : 2549897032

Question Shuffling Allowed : No

Is Section Default? : Yes

Question Number : 76 Question Id : 25498945238 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children
have fun during this process as they get to explore new arenas.
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Show Progress Bar? : No
English Typing Test

Section Id : 2549896992

Section Number : 1

Section type : Typing Test

Mandatory or Optional : Mandatory

Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 2549897033

Question Shuffling Allowed : No

Is Section Default? : Yes

Question Number : 77 Question Id : 25498937912 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

Professional sport as a complex structure is an ambivalent and paradoxical culture phenomenon which has been studied in many
researches. This phenomenon has relation with action oriented disciplines such as science and education. On the other hand it is
vitally connected to the audience and commercial viability and image status. A professional sporting career is a long time activity
directed on fulfilling high achievement goals in a sport and consistent bettering of the achievement for the proper material
compensation. This type of activity is fairly complex as it is practiced on the extreme field of competition. The task of mastering
this activity is a long term task of acquiring proper skills and conditions. Certainly not everybody sees sports as some sort of
activity worthy of fulltime attention. Sure enough for most people it is just a type of hobby or a recreational activity and not a
profitable one. Nevertheless professional athletes of the high competition level are doing quite well in terms of their profit. On the
other hand it has to be mentioned that a person who chooses this type of activity as a highly profitable one almost inevitably
encounters a disappointment. You have to have a serious physical potential and the passion for the job to be on the right way as
success here is strictly a derivative which comes later when a whole lot of factors combine in a perfect puzzle. Unfortunately such
an unpredictable and unstable character makes this profession very demanding in terms of psychological stress which requires
serious attention. The problem is aggravated by the fact that professional athletes are deeply affected by both positive and negative
events of their career in a very personal way which demands individual approach however based on the universal studies. We
know numerous situations when successful athletes suddenly stopped their promising careers and quit the sport due to inability to
overcome the stress or deep psychological trauma. The professional sport requires professional approach which is only natural.
However young amateurs who have chosen this type of career have to pay the price from the very beginning of their way in the
sport. The first significant step is the altering of the usual environment and total devotion to the training process. Sport becomes
not only a hobby but a way of living. Sporting performance acquires not only personal but as well a social importance. Now you
have to make a choice. There is no time for everything your peers are entitled to. Hence the problems with social adaptations. The
most important part of the gifted athlete career is when sporting achievements become the main motivating factor which imposes
an appropriate lifestyle. During this period their sporting career is totally depending on their sporting performance. Their career
has its climax when their performance reaches its best. After that due to aging which is different in each sport there is a dead drop
when their performance steadily declines. And the greater the sporting achievements the more traumatic the decline they go
through. The life after a sporting career is different in any given case but for the most part it is a set of entry level jobs that are
waiting for the former athletes. These jobs also demand certain skills rather than certain qualifications and are in retails or social
services etc.
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